WYROWNANIE KRUSZYWEM
droga 670 w km 54+175 - 55+000

Zatgcznik Nr 2 do przedmiaru

Srednia
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54] 275,00 0,000
0,185 25,00 4,63 4,63
300,00 0,370 -4,63
0,515 25,00 12,88 12,88
325,00 0,660 -17,50
0,845 25,00 21,13 21,13
350,00 1,030 -38,63
1,650 25,00 41,25 41,25
375,00 2,270 -79,88
2,400 25,00 60,00 60,00
400,00 2,530 -139,88
2,935 25,00 73,38 73,38
425,00 3,340 -213,25
3,750 25,00 93,75 93,75
450,00 4,160 -307,00
3,855 25,00 96,38 96,38
475,00 3,550 -403,38
3,170 25,00 79,25 79,25
500,00 2,790 -482,63
2,420 25,00 60,50 60,50
525,00 2,050 -543,13
1,190 25,00 29,75 29,75
550,00 0,330 -572,88
0,165 25,00 4,13 4,13
575,00 0,000 -577,00
275,00
850,00 0,000 -577,00
0,300 25,00 7,50 7,50
875,00 0,530 -584,50
0,265 25,00 6,63 6,63
900,00 0,600 -591,13
0,300 25,00 7,50 7,50
925,00 0,000 -598,63
0,000 -598,63
650,00 598,63 598,63




